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In[501]:= f[x_] := Piecewise[{{x^2 - 4, 0 ≤ x < 4}, {4, x ⩵ 4}, {3 x + 0, 4 < x}}]
p1 = Plot[f[t], {t, 1, 3.95}, PlotStyle → {Thickness[0.005]}];
p1a = Plot[f[t], {t, 4.05, 6}, PlotStyle → {Thickness[0.005]}];
p2 = ListPlot[{{4, 4}}, PlotStyle → Large];
p2a = ListPlot[{{4, 12}}, PlotStyle → Large, PlotMarkers → {O}];
Show[p1, p1a, p2, p2a, PlotRange → {{1, 6}, All}]
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In[507]:= f[x_] := (16 - x^4) / (x^2 - 4)
p1 = Plot[f[t], {t, 1, 1.98}, PlotStyle → {Thickness[0.005]}];
p1a = Plot[f[t], {t, 2.02, 3}, PlotStyle → {Thickness[0.005]}];
p2 = ListPlot[{{2, -8}}, PlotStyle → Large, PlotMarkers → {O}];
Show[p1, p1a, p2, PlotRange → {{1, 3}, All}]
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In[512]:= f[x_] := -Abs[x + 3] / (x + 3)
p1 = Plot[f[t], {t, -4, -3.02}, PlotStyle → {Thickness[0.005]}];
p1a = Plot[f[t], {t, -2.98, -2}, PlotStyle → {Thickness[0.005]}];
p2 = ListPlot[{{-3, -1}, {-3, 1}}, PlotStyle → Large, PlotMarkers → {O}];
Show[p1, p1a, p2, PlotRange → {{-4, -2}, All}]
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